Soluzioni del 27/11/09
int conta(elem *l, int n) {

elem *aux=l;

int cont=0;

while(aux!=0) if(aux->info<n) cont++;

return cont;}

main() {

elem *aux, *l;

int x;

cout<<”inserisci un valore: “;

cin>>x;

l=new elem;

l->info=x;

l->next=0;

char  risp;

boolean continua=true;

cout<<”continuare?\n”;

cin>>risp;

if(risp!=’y’) risp=false;

while(risp) {


cout<<”inserisci un valore: “;


cin>>x;


aux=new elem;


aux->info=x;


aux->next=l;


l=aux;


cout<<”continuare?\n”;


cin>>risp; }

int n;
cin<<n;
int num;
num = conta(l, num);
cout<<num;
}
main() {

elem *aux, *aux2, *l1, *l2;

int x;

cout<<”inserisci un valore per la lista l1: “;

cin>>x;

l=new elem;

l->info=x;

l->next=0;

char  risp;

boolean continua=true;

cout<<”continuare?\n”;

cin>>risp;

if(risp!=’y’) risp=false;

while(risp) {


cout<<”inserisci un valore per la lista l1: “;


cin>>x;


aux=new elem;


aux->info=x;


aux->next=l;


l=aux;


cout<<”continuare?\n”;


cin>>risp; }

cout<<”inserisci un valore per la lista l2: “;

cin>>x;

l2=new elem;

l2->info=x;

l2->next=0;

char  risp;

boolean continua=true;

cout<<”continuare?\n”;

cin>>risp;

if(risp!=’y’) risp=false;

while(risp) {


cout<<”inserisci un valore per la lista l2: “;


cin>>x;


aux=new elem;


aux->info=x;


aux->next=l2;


l2=aux;


cout<<”continuare?\n”;


cin>>risp; }

aux2=l2;

int cont=0;

for(aux=l1; aux!=0; aux=aux->next) { 


for(aux2=l2; aux2!=0; aux2=aux2->next) {



if(aux->info == aux2->info) 
{
cont++;








break;}


}
cout<<cont;}
